9-4 Multiplying Special Cases
I can find the square of a binomial and the difference of squares.  
	1. Find each product.  Write your solution in the shaded area beneath the problem.   
	2.  Describe the pattern(s) you found in each ROW.     

	(x + 8)(x + 8)


	(y + 5)(y+ 5)
	(2p + 3)(2p + 3)
	

	
	
	
	

	(d - 3)(d - 3)


	(t - 1)(t - 1)
	(9r - 2)(9r - 2)
	

	
	
	
	

	(x + 4)(x - 4)


	(k + 9)(k - 9)
	(3c + 7)(3c - 7)
	

	
	
	
	


3. Based on the pattern(s) you found.  Predict each product.  (This means do not FOIL, make a guess based on the pattern(s) you observed).  
a. (x + 6)(x + 6)

b. 
(v - 5)(v - 5)

 c. 
(x + 4)(x - 4)


The square of a binomial: 

(a + b) 2 = ______________________________
(a - b) 2 = ______________________________

The difference of Squares: 

(a + b) (a - b)  = ______________________________

	Simplify Each Product.  Write your answer in standard form. 
(w – 2)2
	Simplify Each Product.  Write your answer in standard form.  
(y + 4) 2


	Simplify Each Product.  Write your answer in standard form.  
(4w + 2) 2

	Simplify Each Product.  Write your answer in standard form.  
(w - 9) 2

	Simplify Each Product.  Write your answer in standard form.  
(x + 8)(x - 8)

	Simplify Each Product.  Write your answer in standard form. 
(x - 11)(x + 11)

	Simplify Each Product.  Write your answer in standard form.  
(6x + 1)(6x - 1)

	Simplify Each Product.  Write your answer in standard form.  
(2x - 4)(2x + 4)

	Simplify Each Product.  Write your answer in standard form.  
(2x2 + y2) 2

	Simplify Each Product.  Write your answer in standard form.  
(4a - 3y) 2

	Simplify Each Product.  Write your answer in standard form.  

(4x + 3w2) (4x - 3w2)

	Simplify Each Product.  Write your answer in standard form.  

(2a + 7b)(2a - 7b)

	Simplify Each Product.  Write your answer in standard form.  

(2a + 7b)(2a - 7b)

	Simplify Each Product.  Write your answer in standard form.  

(5a2 - 6x)(5a2 + 6x)

	Simplify Each Product.  Write your answer in standard form.  

 (6x + 1)(6x - 1)

	Simplify Each Product.  Write your answer in standard form.  

(3 - 6x2 ) 2


1. Describe how to multiply the difference of squares.

2. Describe how to simplify the square of a binomial. 
3. What is the objective of today’s lesson? 
4. Did you meet the objective? 

Rules








